Format of Quiz 7 (20 minutes)
I. Conjugation of a Verb in the Aorist Passive. [I’ll provide a verb with its principal parts]

	
	Aorist Passive

	Indicative
	                                      Singular                                                           Plural

1st person:

2nd person:

3rd person:


	Infinitive
	



	Imperative
	                                      Singular                                                           Plural

2nd person:

3rd person:


	Participle
(nominative and genitive singular ONLY)
	                     Masculine                              Feminine                              Neuter

Nom.
[bookmark: _GoBack]
Gen.




II. Translation
Translation of one sentence (Greek to English). Make sure to review the vocabulary in this week’s chapter. If you don’t remember a vocabulary word, please substitute with another word of the same part of speech (e.g. a noun for a noun, a verb for a verb)—don’t leave a blank!
